Q1. Th gydTel $ g¥ T &l e 98 39 5 ¥9F 9fd oflex & S<cr &, @ 39
300 T9T Fr grfer gl &, dfhad 39 ag 38 6 FUY 9fa ofiex W S=ar g, ar 39
250 TUY @ o1 Gicll &1 3T g bl fohclell AT TEr?

L1Difficulty 2
QTags Mixture and allegation
QCreator Paper Maker 10

Q2. U AT H 8% HAGIAI3N o HAdeld «Tgl fhaTl 38 ToAld A, Fdel &l 3FHACIR
q| ST & FT AA F 48% AT Ured hU IR IHA 319w gfdededr w1200
Al A gUAT| olld H AJSTAT I Fel HEIT AT HIfee?

(@) 20000

(b) 30000

(c) 35000

(d) 25000

(e) 36000

L1Difficulty 2

QTags Percentage

QCreator Paper Maker 10

Q3. #ear & 9 10,000 FIC §| IS Fo WA FhA A F fAder dr oS 15%
aIf¥eh & & HIURVT STTST T URAHA il § AT AV AR FhieA ‘B' & 5 20%
ai¥eh X @ uUhgfg AT I G FAl g1 2 aY a6 ThA A & 3iford
S, 2 dY dlg ThiA B’ @ AT sareT & 780 U ¥ gl ThiA B A
forder & o AR AT Hfew?

(a) 8000 &9T

(b) 7000 9T

(c) 3000 &UT



(d) 2000 ®4UT
(e) 5000 ®4UT
L1Difficulty 2
QTags Compound Interest
QCreator Paper Maker 10

Q4. TH ¢ol, Uh FR HI Jolell H 60% ool & lscll g1 ekl Toh & 7 W foig A
¥ T I A § R UF & AT A g B dF UgId &, S Th-gEk d 160
frelt qx &1 afe TFa 7 &7 T W 20 A & faw &t g, ar ¢ @ afa
(fraY/erer &) g fifse?

L1Difficulty 2
QTags Trains
QCreator Paper Maker 10

Q5. A & Teh HF Il & folv B 3R C & TH AT FF ol H ol TAT & diel
AT FHT JMF O ¥ S A T WY HE FA gU HE B 24 oA A g
A 8, a Tg AT HIGIT fh A 37hel 38 & AT fohclel feall & G Ham?

(a) 100

(b) 96

(c) 84

(d) 90

(e) 104

L1Difficulty 2

QTags Time And Work

QCreator Paper Maker 10



Q6. I Jea &1 IR AR o7 &1 IRAT N §, d Jod & &ABo H q9T &
g% ¥ AT AT HITTT?

(@ 11 : 14
(b) 11 : 4
() 8 : 11
(d) 14 : 11
€) 2 : 4

L1Difficulty 2
QTags Mensuration
QCreator Paper Maker 10

Q7. 316 9RAT A T fohheX T AT TP 44 g1 38 3 aIiRAT # HAM: 60, 24,
x, 50, 73, y, z, 13 TR Ul x, y 3R z &1 3i\a A HifFw?

(a) 40
(b) 44
(c) 48
(d) 52

(e) 42

L1Difficulty 2

QTags Average

QCreator Paper Maker 10

Q8. T WBINTA o el S & fAT 50 Fghel HI qeas @A 381 @r foh
gie gg 128 ¥ ¥ 4T HLal, ar 96 12 J&as IR Tlg Fohel a7 @@ g
qEcsh 3T Hed 2 398 AR HA & S| TEN TS oAk GEdh A HHAT
AT HIfST (FaT H) |

(a)15

(b)25

(c)20

(d)21

(e) 23

L1Difficulty 2



QTags Average
QCreator Paper Maker 10

QY. Th SR H Uil 3R gy 2:3 & 36qUId H gl SR & Fo g¥ HAemdr S g,
fSEshr Amr SR & AiE 9elr & 30% & SR gl $HS 916, T U Herar
SiTar § foashr A addAs # SR # Aol gy H AT F 10% F S gl SR
A gl 3R gY HT AT AT Fhefer &2

(a) 59 : 90

(b) 11 : 18

(c) 90 : 59

(d)

(e) 57

d) 18 : 11

e) 57 : 67

L1Difficulty 2

QTags Mixture and allegation

QCreator Paper Maker 10

Q10. AT 2arT red fhv 1T 3, Afge @RI Ied fhw T 3t & 12.5%
I §1 3o & AT F 62% w3 ued el A e e aTfew gEw
gcd fRT 91T 3l & AL AR 40 &, A Ml @RT yred fFT 7T Fe 3h AT
HITTT?

L1Difficulty 2
QTags Ratio And Proportion
QCreator Paper Maker 10

Direction (11-15): &1 1§ W&AT H@aT Yool & HTAR FHIeT-AT g o &-

Q11. 36, 71, 117, 175, 246, 332
(@ 7



L1Difficulty 2
QTags Wrong Series
QCreator Paper Maker 10

Q12. 18, 72, 36, 150,

L1Difficulty 2
QTags Wrong Series
QCreator Paper Maker 10

Q13. 25, 31, 44, 63,
(a) 31

(b) 44

(c) 93

(d) 63

(e) 135

L1Difficulty 2

QTags Wrong Series

QCreator Paper Maker 10

Q4. 15, 27, 51, 87,
(a) 87
(b) 27
(c) 15

72,

93,

135,

288

135

196



(d) 51

(e) 196

L1Difficulty 2

QTags Wrong Series
QCreator Paper Maker 10

Q15. 47, 57, 81, 130,

L1Difficulty 2
QTags Wrong Series
QCreator Paper Maker 10

Solutions

S1. Ans. (a)
Sol.

Let the milkman buy = y litre of milk.

At the rate of = x Rs./litre

xy - 5y = 300 -------- (i)

6y - xy = 250 ---—--—--—- (i)

from solving equation (i) & (ii)
y = 550 litre

S2. Ans. (b)
Sol.

Let the Total No. of voters = 100 x
Total No. of voters casted vote = 100x -

Winner has received = 48x

211,

332

8x = 92x



Another candidate received = 92x - 48x
= 44x

Given, 48x - 44x = 1200

x = 300

Total no. of voters = 300 x 100 = 30000

S3. Ans.(c)

Let Amount invested by Bhavya in Scheme ‘B’= Rs x
Amount invested by Bhavya in Scheme ‘A’= Rs (10000 - x)
ATQ,

(10000 — x) x 2 x 15 20 \2
—x(1+——)—1::m0

100 100
(10000 —x) x 3 [<144 1)] _ 780
10 *1\To0 =
30000 3x 44x 280
10 10 100

On Solving x = 3000 Rs.

S4. Ans. (d)
Sol. let the speed of train = 160x km/hr

Let the speed of car = 100x km/hr
160 20 160

160x T 60 100x
11 8

x 37 5x
1 85

3  G5x

9

=5

Speed of the train = 160 x 2

5
32 x 9
288 km/hr

S5. Ans.(b)
Sol.
Since time taken by A and B&C together is in the ratio of 3:1



So, efficiency of A and B&C together to do a job is in the ratio of 1:3

==+ . (i)

1 1 1 an
== ()]

rom eqgn (i) and (ii)
1

T 24

A= 96 Days

+
w |
|

S T B IR

S6. Ans.(d)
Let radius of circle and side of square are ‘r and ‘a’ respectively
Perimeter of Circle and square is equal

= 2nr = 4a

TUr
a=—
2

Required Ratio = Area of circle : Area of square
nr? : a?

mir? (gr)2

14 : 11

S7. Ans.(b)

60+24+50+73+13+x+y+2
Sol. . Y77 = 44

352 - 220
132
Average of (x, y & z) =

X
+
<
+
N
1

X
+
<
+
N
1

S8. Ans.(d)

Sol.

Let the average = x Rs.
50x + 128 = 62 (x - 2)
50x + 128 = 62x - 124
12x = 252

x = 21 Rs.

X+y+z



S9. Ans. (a)

Sol.

Let quantity of water and milk present in jar be 200x and 300x
1. Milk added 30% of quantity of water — %x 200x = 60

Now, milk quantity — 360x

2. water added milk present 10% of quantity of = %x 360x = 36x
Water quantity become = 236x

New ratio of water : Milk = 236x : 360x

=59 : 90

S10. Ans. (a)

Sol.

Let Sahil's marks = 80x

So, Sumit's marks = 80Xi<01012.5 = 90x
2

So, Ajay’s marks = 20019% — 96x

100

ATQ,

Ajay’s marks is 40 more than the Sahil’'s marks

=96x - 80x = 40

=> x =25

Total marks scored by all three = (80 + 90 + 96) x 2.5 =266x 2.5 =665

S11. Ans.(e)
Sol.

Patter is :

+?15, +4¥6, +5|8, +7ll, +8|5
+11 +12 +13 +14

So, Wrong number is — 332
Right number should be = 246 + 85 = 331

S12. Ans.(c)
Sol.



Pattern is —

18%x4=72,

72 +2=36,

36 x4=144,

144 +2=72

72 x4=288

So wrong number is — 150
Right number should be =144

S13. Ans.(b)

Sol.

Pattern is —

25+(22 + 2)=31

31+(32 + 3)=43

43 +(4% + 4)=63,

63 +(5% + 5)=93,

93 +(6% + 6)=135

So, wrong number is — 44
Right number should be =43

S14. Ans.(e)

Sol.

Pattern is —

15+(13x1-1)=27
27+(13x2-2)=51
51+(13x%3-3)=87
87+(13x4-4)=135
135+(13x5-5)=195

Wrong number is 196

Right number should be = 195

S15. Ans.(a)



Sol.47+32=56

56+5%=81

81+72=130

130+92=211

211+11%=332

Wrong number is 57

Right number should be = 56



